//aﬂf‘- Iy N\

DBD-32X_Parts_Breakdown.indd

BN Products-UsA, LLC

3450/Sahin/Brown!Road=\Wickenhurg’Arizonai85390

(8001[99213833K11928)(682>2813FAwww bnproducts'com

DBD-32X
Parts Breakdown
Information




1BR7063

1BR7088 (OPTION)

1BR7060

1BRT060R

\:\‘d\ a"'}
*“ {BR7070 7PB06010
1BR5002
DBD-32X Rebar Bender
Frame Group

1BR7083

1BR7080
Cap Bolt M10 x 24 .
8 ea.)

1BR7087

"~ 1BR5133 ~ BRIOSZ ®
ot u Lock Nut M14

s ° P Washer M14
1BR51101

Bolt M14x60

DBD-32X Rebar Bender
Base Plate Group



1BR7084

Spring Pin 5x8

1BR7086

Spring Pin 5x8 DBD-32X Rebar Bender
1BR5066 (2 ea) Adjustable Stopper Group
1BR7085
1BR5077
mrzoor R0 K "
1BR7003 N
IBRSO77  1BR7004 =g

1337_905 1BR7012 1BR5076 | (g
' 1BR5075

4 )v 1BR5076

_1BR7001
1BR702

oY b Y
{BR7002 "‘ &7 @ g5 ibR1022 |

1BR7017
IBR?PM’ | 1811?008

\

1BR5099
e o5 .
o N
mnmm_lmﬂsnv .~
* ' : {BR5107
1BR7006

TSRS40 1BR7019

1BR7013

1BR7009

DBD-32x REBAR BENDER
MAIN SHAFT GROUP



1BR7062
1BR7062B

1BR7062(
1BR7026

1BR7059
SR17 1BR5023
1BR7030

1BR5024

ST T = AN

: o 035
{BR7028 | i el 1BRT0620 o
1BR7035 A

-
Y 1BRT0SS \
= 1BR7057 !Q £
: CIBRT03 e s a
0 = mnsn% = W% o 1BR7023

1> X ‘

1BR7024
1BR7041  1BR5030
1BR5010
1BRT037

1BR5031 1BR7050 {BRT052
1BR5032 : .
1BR7044 1BR7048 ‘\ .,
) 1BR7029
%ﬁ ‘ 1BR7054
1BR7025 % 1BR7056
1BR7055 )
1BR7053 DBD-32X REBAR BENDER

GEAR CASE GROUP

{BR7042 1BR7047

\ i, % o= {BR7042(
),,\“M _ BR7042B 5“3“5043

1BR7042A {BR5010

‘/ BR7044
o

DBD-32X Rebar Bender
Clutch Group (Not Sold Separately)



1BR7076

—— i ‘f‘v
e © & -
R~ ‘/o/v(
' 1BR5117
1BR7074
i DBD-32X REBAR BENDER
\ RETURN SPRING GROUP
1BR7073

YOLT METER

BLACKE

TRANSFORMER

- xg
=
i
=
~
g
j‘ 5533
% (
=
b

CLUTCH DT 2 i P! . 3
NOTOR BLACK 20 %-_"—"' JI' r:__:\g___.__._ru:z >
e i
!?wm’?raéaf \_ 1 " )

S Tack 0] WHTE 2
%
COUNTER
D:‘@LZ:] FOR RE TURN

T

= &/ ik -
PILOTLAMP OPERATION FAoTi2W
SWITCH
MAIN SWITCH

SWITCH PANEL

WIRING DIAGRAM FOR THE DBD-32X REBAR BENDER



DBD-32X Rebar Bender
Foot Switch & Electrical Panel Group

1BR7102

1BR5125 A
o,

3(D012 ON/OFF PIATE
’~
3CD111 ‘ &

1BR5126 1BR5127

1BR5129M

DBD-32X REBAR BENDER
1BR7102 CONTROL BOX ASSEMBY

1BR5128

1BR7202  1BR7201

1BRWF8215



DBD-32X
Rollers Set
(T/Roller Set 2)

1BR7090 1BR7091 1BR70931 1BR70941
No. 1 No. 2 No. 3 No.4

1BR70951 1BR70961 1BR7097
No.5 No. 6 No.7
DBD-25H

This heavy-duty portable bender helps to save valuable man-hours by effortlessly bending
rebar up to #8 (1) Grade 60 at job sites or in your shop. This strong electrical-mechanical
bender has two preset angle locks for repeating the same angle bend. The lever-type angle
selector can be set to accurately bend any angle from 0-180 degrees. Bends (4) each #3 rebar,
(3) each #4, (2) each #5 or #6 rebar and (1) #7 or #8 rebar at one time. The roller chart makes
it easy to select the correct combination of rollers to achieve an inside bending diameter of
six times the rebar diameter. An emergency stop switch and two lifting handles are standard
features. The DBD-25H portable rebar bender comes complete with (9) bending rollers in
two steel carrying cases, a tool kit, a bender cover, and a standard foot pedal control switch
for hands-free bending. Optional circular pattern bending rollers are available. Benner-Naw-
man backs it with a one-year warranty.

DBD-25H Details
Maximum Bending Diameter | #8 (1”) (25mm) Grade 60

Bending Angle 0 — 180 degrees
Bending Speed 9 Seconds for 180 degree bend
Power Supply 115V 50/60Hz -15 amps

Weight 210 Ibs. (95 kg)




